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O Bt=-ZH| 18,460
OSRHELLRFAROS 7,000
Oargdlgbtarags 6,000
OXE = I 5,460
294 12,000
ONUXIE MR 2SS 12,000
03 HAIZHHI 10,000 10,000 0
OFAMA=EHUXNEENSUS 10,000
202 04| 20,000 10,000 10,000
01 2L Y| 20,000 10,000 10,000
ORI EINEAISE L R=E 04| 20,000
203 R =&l 4,320 4,320
03 AMBFR AR =EIH| 4,320 4,320
O XM R A 4,320
Hl ==X &AL 40,000 60,000 A20,000
201 LEr2AH| 10,000 20,000 A 10,000
01 AFR22t2ldl 10,000 20,000 10,000
OYet+ZH| 10,000
O=ZHEHSHILAXIHIS 10,000
301 EtEAZ 30,000 40,000 A 10,000
09 2BIZ=ENH| 30,000 40,000 A 10,000
CIATHAHHIH X 20 ™ D | =H 4 30,000
EASEHNUXESAIHDIESETS 228,000 138,000 90,000
201 LEr2AH| 30,000 30,000 0
01 AtR2teld| 30,000 30,000 0
OYBt=ZH| 30,000
O THEY RS 30,000
403 XIXIHXMS K20 A 198,000 108,000 90,000
01 AIXISHHX2EE 198,000 108,000 90,000
CEASEHHANNEAIHEOISXIR 198,000
U X AS ALK& 5,760 5,760
201 LBr2AH| 5,760 5,760
02 B22ZH| 5,760 5,760
(22222 A 5,760
OUUHXNIAMHBNRJ/ASIIRERZ 5,760




2: ssgroes
e P EPNEI TS = P ][

SA oK &S
EVIEPAVIVTEDNE NP/ =9

cHels oluXIolEgelst EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
i XIol=eelst 473,800 338,200 135,600
ANEEZAY 380,000 289,400 90,600
403 MR SHHMSAH=01H 380,000 289,400 90,600
01 XIXIEHX=EE 380,000 289,400 90,600
ORS00 XI = A (XIS EH]) 380,000
NS0 A = W= 1,000 1,000
201 Zet=3h] 1,000 1,000
01 AlR2telHl 1,000 1,000
2et=EH| 1,000
OXIGUUHXIHE =B nS 1,000
NN nSHELFH 42,800 47,800 5,000
201 Zet2d] 17,400 17,400 0
01 AlR2telHl 17,400 17,400 0
Hget+Sy| 17,400
OXNGUUHANESERSNES 17,400
303 Z&S 5,400 5,400
01 243 5,400 5,400
Lo RAI =R 2= Al 2 Al 5,400
308 XXM SOIA 20,000 25,000 25,000
18 SO 2SS &4 X AS A I 20,000 25,000 5,000
Lo XNZSME s X2 13,000
OBY4=E0UH XA X2 7,000
LTI Z2AAS (FRI=3) 50,000 50,000
403 MXITHHSA=201H 50,000 50,000
01 X SMA=E A 50,000 50,000
LOSSAE0UXIZSAS 50,000
deE =22 11,010,340 7,596,400 3,413,940
FHAHSHHXI S XA 843,300 585,900 257,400
403 XXM SKH20IE 843,300 585,900 257,400
01 REXIEHMIAt 2 2 2 843,300 585,900 257,400
OFLASHNEHX S XA 843,300
Jel=E 8IS 10,167,040 7,010,500 3,156,540
403 MXISHHSAH=0IN 10,167,040 7,010,500 3,156,540
01 REXIEHRIA 2 2 2 10,167,040 7,010,500 3,156,540
OO =2 ESSAIY 10,167,040
F=AMATBHR= 5,200,000 1,300,000 3,900,000
AT AIKIE 5,200,000 1,300,000 3,900,000
403 MR EHHSAHE01H 5,200,000 1,300,000 3,900,000
01 XX EHMIA = E A& 5,200,000 1,300,000 3,900,000
O AAFE (RIS EHI) 5,200,000
Nl Moty (a3 y/dead) 55,000 60,000 25,000
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A= SSHRH=R SA U XA
& A2 3HI(0HXIAE D) (I1EHIIE
&elr D=3l EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
(Ol IEPNESINE NISERelES 2,400
=gl 17,280
OgRFZSAl 17,280
Og¥x= 1,000
OHIAIRHHISE A= 1,000
2 55234l 5,000 5,000 0
OAIE EHIS A 5,000
OMSEIDIHXERAIBIS 5,000
202 Ot 47,628 26,600 21,028
01 2LHOY] 47,628 26,600 21,028
OgRFa0d4l 47,628
203 R F2IY| 3,000 3,000
M EA2HER=AH 3,000 3,000
J202t01at 3,000
405 KHaHF =4I 7,400 7,400
01 AL =S F = 7,400 7,400
O=ADI2Y 7,400




g2 8 A A

NS
phRI0| 2B A B (SR 4t
(O Respeche B R E (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
&t 60,657,383 76,452,353 15,794,970
HolB AU (o Lo/ o L4 60,465,651 76,274,463 15,808,812
I AA 8,788,388 9,261,574 N473,186
o2 341,740 310,460 31,280
201 fer= 3| 241,740 218,460 23,280
01 At 2|l 32,740 9,660 23,080
Usg+g 29,340
ONBXN =H AL =AH| 29,340
Qi =sl 3,400
ONN =N AESYSHS 1,400
ORI E 2R 2,000
2 Ss2g4l 209,000 208,800 200
U232 HAl 36,000
ONgENEH2EIHIMIIR=SS 36,000
A2 &= Xl 7,000
Ol - BIINESIIIFAXLI 7,000
WPNE=Fubts] 166,000
OUNEHRFHIS 150,000
(OFals £ NIl 16,000
202 0o4dl 15,000 12,000 3,000
01 =LHNHI 15,000 12,000 3,000
O=8HgHssSHENEd 15,000
301 EtE NS 5,000 5,000
14 0Bt 2as 5,000 5,000
OAHSE0ga NZ e = 5,000
401 AlEHIZL S0 80,000 70,000 10,000
01 Al&H| 80,000 70,000 10,000
WIGE=PNEaEIN|-Ee 80,000
HEAI DU ZAIAR— AR 50,700 54,600 23,900
403 MR HHMSAHE01H 50,700 54,600 /3,900
01 A= 2L 50,700 54,600 A3,900
LA L HAI LB 2= 50,700
2| 2EHI 2 AKX 2 284,971 309,400 N24,429
403 AXIEHHSAH=201H 284,971 309,400 N24,429
01 HXIHHA 22X 284,971 309,400 N24,429
O 2 EHI &I M X2 284,971
HEHEUHAES 1,398,300 2,443,357 1,045,057
403 X SHMSAH=01H 1,398,300 2,443,357 A1,045,057
01 AR A= 2 £ 1,398,300 2,443,357 1,045,057
Od=ohd0i2E22 1,398,300
NP BE RN FE 166,320 186,320 10,000
201 er2 3| 52,000 152,000 100,000




a3 sEHrEs SA AT
HI: A0 AU (S H LA - OfF)
el oggdg 2 ond (SH9 H2)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
01 AtR2teld| 52,000 152,000 » 100,000
OY8t-ZH| 50,000
O AR EMNSXNELNEROIS 50,000
(=2g9g 2,000
OLEIE N+ 2,000
203 YR =XIH| 4,320 4,320
03 AMIBFR AR =EIH| 4,320 4,320
OHYEHIMNE LR = 4,320
308 AXIHHSOIA 110,000 110,000
13 S| 2SS EAERAEAIS LI 110,000 110,000
Ol HEE 110,000
OH =AM A ST X K& 20,000 20,000 0
308 AXIHHMSOIA 20,000 20,000
01 JXISHMBAEES 20,000 20,000
Clol MM A XA K& 20,000
KOt XA 3,680,800 2,492,925 1,187,875
403 RIXISHHSK=20|H 3,680,800 2,492,925 1,187,875
01 XN K2EE 3,680,800 2,492,925 1,187,875
OHHE R EEH 3,680,800
HHOFH H AEH R AL 52,000 52,000
403 XIXIHHS K20 A 52,000 52,000
02 SII2SHCHSHAI=2 X L AL B 52,000 52,000
CIHOTH S A EH R AL 52,000
HRAHEINLE S KA 5,000 5,000 0
307 QIZt0I ™ 5,000 5,000
02 QIZHBAMAIEE X 5,000 5,000
Ol &N S 23 K& 5,000
O PN P [DNE] 100,000 100,000 0
403 RIXISHHSK=01H 100,000 100,000
01 XN K22 X 100,000 100,000
O & &H|I X2 100,000
HERHEA X X& 35,000 35,000
403 REXIHA S K20 H 35,000 35,000
01 AEXISHH A =22 X 35,000 35,000
O REEHAXKA 35,000
AEHMCHM 22| X~ 338,000 38,000
308 AXISHHSOIA 338,000 38,000
01 AIXISHHEAMNEXZS 38,000 38,000
ES=T Pal Sk DR 38,000
()22 X2 720,000 789,400 69,400
308 XAXIHHSOIA 720,000 789,400 69,400




SN =s
Ao YA B (SN
(R pe=pe- R Pl (SH9 H2)
224 - B - S9I(30) - HRAY - BES A HIDEZ
01 XN B2 LS 720,000 789,400 69,400
Ood () 22X 720,000
HgeltdEg 2 X2 21,000 22,350 1,350
308 AXIHS0IA 21,000 22,350 1,350
01 HRHHBSEELS 21,000 22,350 1,350
U0 gt 22 X 21,000
HEEFFHIXE 400,000 400,000
308 AFAIEHMSOIE 400,000 400,000
01 AX N B EES 400,000 400,000
HolgE=<uXxa 400,000
SHEAI DR ESE OIS X R 17,000 17,000 0
308 XXM SOIA 17,000 17,000
01 XN B2 LS 17,000 17,000
oAl DA 2SR A X2 17,000
UAHSEHOHALZAIEZ2S 45,000 50,000 25,000
308 AXIMS0IA 45,000 50,000 /5,000
01 HRHHBSEEXS 45,000 50,000 /5,000
LA SO HU AL ZS 45,000
A E =3 Eh 63,000 70,000 AT7,000
308 XM SOIE 63,000 70,000 AT7,000
01 XN EES 63,000 70,000 A7,000
oo yetB 84I(= 63,000
AAIOFE I ZHI X2 100,000 100,000
308 XXM SOl 100,000 100,000
01 XN BSELES 100,000 100,000
LA AlOHE O EHI X2 100,000
FOHSE ) WA A 125,000 125,000
308 AtAIEMSOIE 125,000 125,000
08 WsJ|20etEx 125,000 125,000
O AHSE 0w EAS 125,000
FeFO ot = XA 3,540 3,186 354
308 AFAIEHMSOIE 3,540 3,186 354
01 AXEH B EES 3,540 3,186 354
s o= X 3,540
ORI EOLEHIN 30,000 30,000 0
308 XXM SO0l 30,000 0 30,000
1B SIS USRS 30,000 0 30,000
RSN =PIl PNE 30,000
HegeliDisds=25 74,232 71,5632 2,700
308 AHAIEMSOIE 74,232 71,532 2,700
01 HAHHBSEEXS 74,232 71,632 2,700
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SN =s
S NCEEREETCICET
(R pe=pe- R Pl (SH9 H2)
224 ZH . G(B) - HRAY - B A HIm=S2t
01 AXSHHBLERS 45,000 0 45,000
OO0 HAE ™ el X2 45,000
HES3H a2l 231,400 231,400
403 XtXISHSKHEO0] 231,400 231,400
01 RIXISH A= 2 & 231,400 231,400
OH2ESZ Nzl 231,400
HEH2ZolEet32x 30,751,203 43,618,030 A 12,866,827
HEE2HoITeARF 10,449 11,610 A1,161
203 AR F=&lH| 10,449 11,610 A1,161
03 Al FRIHRFAIY| 10,449 11,610 A1,161
OHEHE2HZN T REHRFE 10,449
NgoHe|EAalLasrZ JaE ot 300,000 300,000
401 AIEHIZ20HHI 300,000 300,000
01 Al&HI 300,000 300,000
OXgogl2HaY 300,000
HEFE300(2022H 8 &) (X ,386,514 8,365,608 3,020,906
403 XtXISHISKHEO0] ,386,514 8,365,608 3,020,906
01 REXISHHI A= 2 & ,386,514 8,365,608 3,020,906
D& <300(2022 ,386,514
KNLAHEHE (HEAY) ,000,000 5,000,000 4,000,000
401 A& HILS0HY| ,000,000 5,000,000 4,000,000
01 AlEHI 994,000 4,975,000 3,981,000
OXgogHd 994,000
03 Al CHYI 6,000 25,000 A 19,000
DX A& 20| 6,000
Gt X | EX| (M EHALRT) 540,000 508,000 32,000
403 XIS MSKHE01A 540,000 508,000 32,000
01 XEXISHI A= 2 & 540,000 508,000 32,000
OC=SEIAI -] 540,000
NLAHEAIE ,500,000 1,945,000 A445,000
403 REXISHHIS K201 & 1,500,000 1,945,000 A445,000
01 XEXI SR =22 & 1,500,000 1,945,000 A445,000
OXZHEA- ,500,000
L2A2UHEAL ,550,000 1,300,000 250,000
403 XtXIHMSXH=0I 1,550,000 1,300,000 250,000
01 XN K2EE 1,550,000 1,300,000 250,000
O 20EAI- ,550,000
KL AL SR 2e| K& 200,000 195,000 5,000
403 XIS MSKHE01A 200,000 195,000 5,000
01 AXIHHA2EE 200,000 195,000 5,000
OXZHEHMAIEL R 200,000




2= solg=Es A o eka=abit
M Ao B AU SHN LA/ - O E
OISl OEOIZRROITRIRE (crop:mel)
Y2 RA - F - G9(3) - AR - BLS ol &t A HImS2
AISUHEAIL (HEAIS) 4,075,000 3,787,000 288,000
401 Al HIZL 201 4,075,000 3,787,000 288,000
01 Al&HI 4,065,000 3,777,000 288,000
CIRIBH=AIEEX 4,065,000
03 Al =2 0HHI 10,000 10,000 0
LIS =AIEEXIRUHI 10,000
QAIBHZHE 2| (MEALY) 611,250 563,000 48,250
403 THAIEMS =01 611,250 563,000 48,250
02 S 2SOt st = & 2 E A ] 611,250 563,000 48,250
Oelso=oi&2el 611,250
HELZSESIAMNA (20283F L H ) (XN ESY) 9,565,990 0 9,565,990
403 X SHHMSAH=01H 9,565,990 9,565,990
01 AR A =2 & 9,565,990 9,565,990
O0EMSHESTA (20283 HEH) 9,565,990
SAFNE005=EHO I S ALKI A 12,000 0 12,000
308 AXIMS0IA 12,000 12,000
01 HRHHBSEEXS 12,000 12,000
LS AEHEH00F=E | SALKA 12,000
SHEHEI U= E S A 11,406,200 16,165,322 N4,759,122
ANELASAAHIT LA (HAEHE) 5,310,000 7,080,000 21,770,000
403 AXIEHHS X201 5,310,000 7,080,000 21,770,000
01 XIS A =2 5,310,000 7,080,000 21,770,000
OADIELAZHAHTEAI(HIAEHE) 5,310,000
Lol 2SS X 128,500 128,500 0
308 XXM SOIH 128,500 128,500
01 XN B2 LS 128,500 128,500
Ogal=MSMHlEE S XA 128,500
LAEFHIINMS= 150,000 144,207 5,793
403 AXIEHMSA=0l1d 150,000 144,207 5,793
01 MXIHHA 22 150,000 144,207 5,793
OSAZEHHIINMS S 150,000
ogHEE2elSSHAIA 223,200 644,800 A421,600
403 AXIEHHSAH=201H 223,200 644,800 A421,600
01 XIS A =2 223,200 644,800 A421,600
Lo E2AC I SSHAR 223,200
Z=AETHOH Ol 2L 2RI 21,000 21,000 0
308 AHXIEMSOIH 21,000 21,000
01 XN B2 LS 21,000 21,000
Cl=&HHOH Ol 2 L & A8 21,000
ISRHEBSAA 183,536 85,500 98,036
403 AXIEHMSA=01d 183,536 85,500 98,036




SN - BB S(EH) - NIRAY - BES A HIDE2
01 XISHH A =22 183,536 85,500 98,036
Oes=2a228sXd 183,536
Hotoi A E Y 200,000 216,000 216,000
403 AXIEHMSA=0ld 200,000 216,000 16,000
01 AR AH22 £ 200,000 216,000 16,000
Dot &Y 200,000
SHE 2| Ar 300,000 300,000
403 THAIEMS =01 300,000 300,000
01 AXISHHA2EE 300,000 300,000
WE={GESs At 300,000
SAMEREHN UK ESMSE (SIEBT) 550,000 257,015 292,985
403 AFXIEH =201 550,000 257,015 292,985
01 XIS A =2 550,000 257,015 292,985
OLAFZSHANUXESAISE (GIERE) 550,000
SAFSAN UK ESAFS (2IHE) 35,964 0 35,964
03 MAIHHSKH=01H 35,964 35,964
01 A= 2L 35,964 35,964
OLAZRSANUXES(2IHEH) 35,964
SEXSHHIU=SE AT 1,000 1,000 0
201 =3 1,000 1,000
01 AtR2telb] 1,000 1,000
U=g=¢ 1,000
OB =g e2ERdTArE 1,000
SMSEUYHSS 80,000 70,000 10,000
403 T HSTH=01A 80,000 70,000 10,000
01 MXIHHA =222 80,000 70,000 10,000
O=atSSogeasa 80,000
2ol = MESHARMIX 2l K& 7,500 30,000 N22,500
403 THAIEMS =01 7,500 30,000 A22,500
01 AXISHA=2E2 X 7,500 30,000 A22,500
Cl2rAl ==& SH ALY 2l X2 7,500
+=2HEX2 A 370,000 350,000 20,000
403 AXIEHMSAH=01 370,000 350,000 20,000
01 IR A =2 370,000 350,000 20,000
Clol& =2 SXHAL 370,000
ST LZ(HEALY) 815,000 735,000 80,000
403 AXIEHMSAH=0ld 815,000 735,000 80,000
01 XEXIEHH g2X 815,000 735,000 80,000
O=AS TS = 815,000
MEATMAIE (HE) 50,000 100,000 /50,000
308 AHXISHAI 50,000 100,000 /50,000




A= SSiKE=R SA oAbt
M Ao AU (S O/ FH A4 - 0E)
el SFESHBIOSEEAE (SH9 H2)
Y2 RA - F - G9(3) - AR - BLS ol &t A HIDZ2
01 XN B2 LS 50,000 100,000 50,000
ORHMEAHMAIE (R X) 50,000
ol S M A (It ) 226,000 291,000 65,000
308 AXIHS0IA 226,000 291,000 65,000
01 HRHHBSEELS 226,000 291,000 65,000
ORiMESFHAS (aiTtel) 226,000
A BRI S IR AH(EEALS) 191,000 191,000
403 TR SIS AH=01 ™ 191,000 191,000
02 S 2SOt st = & 2 E A ] 191,000 191,000
O SIS UTA 191,000
SOHSHA LA MASH (M EAL) 690,000 600,000 90,000
403 AXIEHHISAH=0lH 690,000 600,000 90,000
01 AR A =2 & 690,000 600,000 90,000
WES g lelye F=gelZapaeebon 690,000
SOHUHAX S SAIS (HEAL) 1,300,000 1,300,000 0
403 MR HHMSAHE01H 1,300,000 1,300,000
01 AXEMA2E = 1,300,000 1,300,000
OsSHUHANHRSISA 1,300,000
U+HESHRESAIY 30,000 15,000 15,000
308 KFXIEME0IH 30,000 15,000 15,000
01 AXEH B EES 30,000 15,000 15,000
OUH+HESHFESAIY 30,000
W=BHH S EHIXIRAS 24,300 16,200 8,100
403 XIS SAH=01H 24,300 16,200 8,100
01 AXISHHA =2 £ 24,300 16,200 8,100
OUW==HO L ZBIXI AL 24,300
OIS & =4 X0 K2 210,000 300,000 £90,000
308 AtAIEMSOIE 210,000 300,000 £90,000
01 HAHHBSEEXS 210,000 300,000 290,000
oS E =X XIZ 01X 210,000
LA IS A X 210,000 50,000 160,000
308 XXM SOIA 210,000 50,000 160,000
01 XN EES 210,000 50,000 160,000
RGPl =N DAL 210,000
SATALEUBAY 48,000 48,000 0
403 X SHHMSAH=01H 48,000 48,000
01 AXISHHA =2 £ 48,000 48,000
OLAFAILSE S 48,000
F=H Y AZHIXIH 27,200 39,000 A11,800
308 AHAIEMSOIE 27,200 39,000 A11,800
01 HAHHBSEEXS 27,200 39,000 A11,800




Mot MU U= eta s (SH9 H2)
A - B - SI(3I0) - HIRAY - B A HIDEZ
U&= =HIXH 27,200
NS SHIAE 24,000 22,000 2,000
308 AXIHSOIA 24,000 22,000 2,000
01 HXHHBAEES 24,000 22,000 2,000
V=GRS gel SN RS dal DA 24,000
tldste=MESE 9,519,860 7,229,537 2,290,323
FMEINSASOHAE 21,000 21,000 0
201 et 3| 21,000 21,000 0
03 A2 I 21,000 21,000 0
UtDISASEL0IE A 21,000
A ABAETIAZ 1,400,000 1,400,000 0
308 XtXIEMSO0IE 1,400,000 1,400,000
18 SIS0t & A AS A 1,400,000 1,400,000
O A AYHAE XA A 1,400,000
A A S HEHAZ A 40,000 32,000 8,000
308 AXIMS0IA 40,000 32,000 8,000
01 HRHHBSEEXS 40,000 32,000 8,000
O2otASMAENF X 2HE SHALY 40,000
A E AR S AL 262,808 388,485 A125,677
308 XM SOIE 262,808 388,485 A125,677
01 XN EES 262,808 388,485 A125,677
OHAMO S A ST A 262,808
SEHIXI&A 195,000 195,000
403 XIS SAH=01H 195,000 195,000
01 AXISHHA =2 £ 195,000 195,000
LotSEHINE 195,000
Satrtt2A8IFN 128,640 52,400 76,240
308 AXIHSO0IA 128,640 52,400 76,240
01 HAHHBSEEXS 128,640 52,400 76,240
KNS EstdtE24HIF 128,640
L=l SHIAE 4,410 6,300 1,890
308 AFAIEHMSOIE 4,410 6,300 1,890
01 AXEH B EES 4,410 6,300 A1,890
LIUNRL =Y 2EHIXNEH 4,410
SMSAXIISAIL (HEALY) 2,140,000 1,200,000 940,000
403 X SHHMSAH=01H 2,140,000 1,200,000 940,000
01 AXISHHA =2 £ 2,140,000 1,200,000 940,000
O==MES XIS AIE 2,140,000
FMERSIIISHEENA 571,660 547,000 24,660
403 MR HHMSAHE01H 571,660 547,000 24,660
01 HXIHHA 22 571,660 547,000 24,660
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AT ST SN SCHUEUY
MM USRI RF(WSLER/UHESNE - 2FSIIEY
=l o uSAH A2 (Gt H2)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
HLFWEMHIAZF 6,131,200 5,854,000 277,200
CAHOHHASAXK(XESY) 3,851,200 3,424,000 427,200
308 AtXISHMSOIN 3,851,200 3,424,000 427,200
01 AXISHNEAERZ 3,851,200 3,424,000 427,200
CHRHBHSAX(NES L) 3,851,200
ENXEHBENRSHIAR 450,000 500,000 50,000
308 AXISHHSOIA 450,000 500,000 50,000
01 JXISHMBABEZ 450,000 500,000 250,000
OSSN EHBHARSHIXA 450,000
CAX S ME L XZEHASSHIXR 930,000 930,000
308 AXISHHSOIA 930,000 930,000
01 AXISHNEAEEZ 930,000 930,000
MRS MEEH-ZHASSHIRRA 930,000
=0 LA2A X 900,000 1,000,000 100,000
308 AXIHHSOIA 900,000 1,000,000 100,000
01 AXISHNEAERZ 900,000 1,000,000 100,000
FECHHESLRA 900,000
HotStA MH| (B /ol ) 11,729,187 8,332,698 3,3%,489
OO H| HI & 22 11,729,187 8,332,698 3,396,489
OIAHIAIE (KIS EHI) 7,883,000 4,314,000 3,569,000
207 AR 1,000,000 1,000,000 0
01 dE9Y| 1,000,000 1,000,000 0
CJH ORI A AIEf AN KIS EHI) 1,000,000
403 RIXIHMSK=201H 6,883,000 3,314,000 3,569,000
01 REXISHH A 22X 6,883,000 3,314,000 3,569,000
CJHOFMEHIAF (KIS & HI) 6,883,000
HOFTHOHE AIAIE A X| 800,000 1,000,000 200,000
403 XEXIHXMS K20 A 800,000 1,000,000 200,000
01 AEXISHXM A 22X 800,000 1,000,000 /200,000
CIHAHTHOH & RIAIE A& X 800,000
COtO| M| H M 22| =& 3,000 3,000
201 LEH2AH| 3,000 3,000
01 AtR2teld| 3,000 3,000
Ogdt+=ZH| 3,000
O OHEIAIAIEN AL F A D H A 3,000
oH¥E2t2te] 5,000 5,000 0
201 LetEHH| 5,000 5,000
01 AFR22t2lHl 5,000 5,000
Ogdt~=2H| 1,000
OMIRALUHLOHES 1,000
Osgs4 4,000




R oM L SCHLRU
(0]
of

olotstA | (B /aHY)
HOFOI X H = 2 EER=E)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
IR 4,000
HLYESAAACIAI (FA) 32,786 154,215 A121,429
308 RXIHMSOIH 32,786 154,215 A121,429
01 IXSHHBAEES 32,786 154,215 A121,429
OHLYES A2 AN (F4) 32,786
B SAAACIAIS (RH2) 48,571 97,143 A48,572
403 XSS K201 48,571 97,143 A48,572
01 MXIEtHAH22 = 48,571 97,143 A48,572
O LES A2 AL (RH2) 48,571
ZTHSOIAMY D =00AIS (B EHALY) 450,000 450,000 0
308 KEXISHMSOIH 450,000 450,000
01 AXIEHZAEXS 450,000 450,000
OXSZOIAMY D=0 A (21N ) 450,000
SHLEM DI H A (RIS EHI) 312,000 312,000
308 REXIHMSOIH 312,000 312,000
01 IXSHHBAEES 312,000 312,000
CIoH LMD HSHAFS (KIS EHI) 312,000
OHFM YD =HALH 165,000 150,000 15,000
308 AXISHMSOIA 165,000 150,000 15,000
01 AXIEHBLEES 165,000 150,000 15,000
CIoH kM 21 D] == 165,000
SRS E 22 54,600 36,000 18,600
201 L2 | 54,600 36,000 18,600
01 ArR22elt| 54,600 36,000 18,600
Otz 54,600
OEAMXNLHS 222 RS AR E 54,600
Het2etd 243 563,830 485,580 78,250
201 Ler2 | 542,830 465,580 77,250
01 At 22|l 54,830 16,344 38,486
L eh~=2H| 3,000
OMRESTYS 3,000
=l 6,650
Ods2eHI2RAU=S 6,650
OYxt= 15,840
O3S EXHUXE 15,000
O AARALH2I|AXZ 840
O2d=¢ 29,340
O 2PE A A U=TY] 29,340
02 S=29| 488,000 449,236 38,764
OS2I HA 114,000
OXNYMEZSHaSHZ 90,000
OFSI2PEHLUAIRATIRIS 24,000




AT NEEE SN STHYEHDY
2 corstA M| (&Y /ol YY)
(= §o) 45 s (| ESA gt EER=E)
A2 2N - FB - O9(S) - HIRAY - BAS Ofl b4 Ce = DS
=0 S ok - == = e
A &= Xl 4,000
OSAHEIAIESIIDIR AL 4,000
OXt & e 370,000
OFe2YHRFHIS 320,000
(OFal= e IN]:]] 50,000
202 o4t 21,000 21,000
01 =WOdbI 21,000 21,000
O=LH0dI 21,000
OEMXSEs2EHE2804| 21,000
SOt =S Zo M DI Z ALY 36,000 36,000
308 AXIEHMSOIN 36,000 36,000
01 AXSHHBAEXS 36,000 36,000
D0t S 2L I UCMSE T MY D|HE
SAL 36,000
FAUHOHHI DO | S HS ALY 1,375,400 0 1,375,400
308 AHXIHMSOIH 1,375,400 1,375,400
01 HXSHHBLEERS 1,375,400 1,375,400
LI <o OtHID IS THE AR 1,375,400
SoHHH UMY (ol LA/ L - O E) 454,700 2,010,000 1,555,300
s ss 454,700 1,510,000 A1,055,300
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